amicomo10-3 New Cotton Lace Collar

Suggested yarn:
* Pierrot Yarns New Cotton Lace #20 [100% cotton; 169 yds/155m per 1.41 0z./40g skein]; color #202
ivory, 2 skeins [60g]

Tools/Notions:
+ 2.0mm (US steel hook 4) crochet hook or size necessary to achieve gauge

Finished measurements:
* Please refer to schematics.

Gauge (10cm/4" square):
* net stitch (ch-5): 8 peaks and 20 rows

.......................................................................................................................

Crochet Tips
Collar: Chain to begin, working first row into bottom loops of chain. Work in net stitch, decreasing at each side as shown
in chart. Join yarn where indicated, and work edgings A and B around outer edge.

Motifs: For motifs A, B, and C, start with magic ring. For motif D, ch5 and join into a ring. Crochet motifs A-D. Start leaf
motif with chain; crochet as shown in chart. Whipstitch respective motifs to net stitch of collar as shown.

Finishing: Crochet cords and fasten to tassels. Seam ends of cords to collar.

Abbreviations:

ch = chain

dc = double crochet (US)
m = magic ring

sc = single crochet (US)
tr = treble crochet (US)

......................................................................................................

© 2012 Pierrot Yarns (Gosyo Co., Ltd.). Translation by Linda Lanz. All rights reserved.
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% Seam motifs to collar in a balanced
manner with matching yarn.



Motif A (make 5)

Motif D (make 4)
2.0mm hook 2.0mm hook
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Motif B (make 4) Leaf motif make 6
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Motif C (make 6 Cord (make 2)
2.0mm hook 2.0mm hook
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wrap 25 times



